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-35.35+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,0

K71 nuig zove+Ud [ 25
o= po 4262+ 0.0
pl -37.36+ 0.00

TP delay [ns]

TVC(cbch) (0,7,4

Tz r91e+u4 [ 25
- pO 4278+ 0.0
pl -35.36+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 7,8

1 nuiz,0yge+Us / 25
- PD 4290+ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(cbch) (0,7,12

1o, zve+U5 / 25
pO 4268+ 0.0
pl -34.33+ 0.00

I C =29.13 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (0,7,1

x- 1 iz duve+ud | 25
P po 4273+ 0.0
pL -37.66+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

-1 nu 188e+u4 / 25
- pO 4284+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

~ 1 nuip44e+U5 / 25
4293+ 0.0
-36.5 % 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (0,7,13

T nup.zy1e+U5 / 25
pO 4289+ 0.0
pl -36.34+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,7,2)

A7 1nuig zzye+V4 [ 25
=, po 4296+ 0.0
L pl -37.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,6

S i 113e+05 /25
- pO 4279+ 0.0
[ pl -35.25+ 0.00

TP delay [ns]

TVC(cbch) (0, 7 10

© 1 nuiz.419e+06 / 25
- DO 4299+ 0.0
- pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (0,7,14

T, 1z8e+05 / 25
-, pD 4289+ 0.0
L pl -35.6 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

AT 1 nuws.zs4e+U4 1 25
- po 4290+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

-1 nug buze+us / 25
e, pO 4270+ 0.0
p1 -34.59+ 0.00

C =28.91 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 7

- Mg, 4bbe+u6 125
pO 4302+ 0.0
-36.68+ 0.00

TP delay [ns]

TVC(C, bch) (07,15

T nur.u/ae+U5 [ 25
pO 4300+ 0.0
-35.95+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,0)

X~ 1w 141e+04 /25

po 4274+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(cbch) (0.8,4

Tz zy3e+ud | 25

- pO 4275+ 0.0
p1 -34.94 + 0.00

[ C =28.62 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (O 8,8

1 nuiz 152e+U5 / 25

- PD 4294+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (0,812

~ 1 uip.uLLe+U5 / 25
= po 4307+ 0.0
pl -36.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

AT 1 nuzu4ve+u4 [ 25

P, po 4257+ 0.0
pL -34.95+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

11U bgbe+u4 | 25

- pO 4267+ 0.0

34.35+ 0.00

[ C=29.11 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 8,9

1 1uiB.0/be+Us / 25

e DO 4302+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(C, bch) (0,8,13

11U BUbe+US / 25

F po 4317+ 0.0
pl -36.9 + 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,8,2)

A~ 1nuirore+V4 /25

TP delay [ns]

TVC(cbch) (0,86

-, po 4272+ 0.0
o pl -35.7+ 0.0

3000

117, 9uve+u4 [ 25

- pO 4290+ 0.0
[ pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

1000

1 nuiZ 314e+U6 / 25

8, 10 )
[ -36.7+ 0.0

4324+ 0.0

TP delay [ns]

TVC(cbch) (0,814

1000

1 nu py1e+U5 / 25

— pD 4316+ 0.0
L pl -37.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3)

po 4290+ 0.0
pl -36.11 + 0.00

AT rnus.uyre+ud [ 25

TP delay [ns]

TVC(c,b ch) (0 8,7

F pO 4292+ 0.0
p1 -35.41% 0.00

- 1nu (41e+05/ 25

TP delay [ns]

TVC(c,b ch) (0, 8

po 4318+ 0.0
pL -36.46 + 0.00

1, 1y=e+u6 125

TP delay [ns]

TVC(C, bch) (0,815

Fmem, pO 4306+ 0.0
pL -36.3+ 0.0

a7, 39e+u5 /25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0)

X~ 1z uooe+U4 [ 25
po 4241+ 0.0
p1 -35.56 + 0.00

TP delay [ns]

TVC(cbch) (0,9,4

= 1w 991e+u4 [ 25
po 4239+ 0.0
pl -35.37 + 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (O 9,8

1L 38pe+U5 / 25
po 4270+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

1o, z5ze+U5 / 25
po 4269+ 0.0
pl -35.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,91

AT 1 nuiz,3ooe+u4d [ 25
- po 4236+ 0.0
p1 -34.88 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

-1 nuz.49ye+04 [ 25
e, pO 4256+ 0.0
pL -35.26+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

T nuy 3 /oe+U5 / 25
pO 4259+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 9 13

T nug. 154e+U5 / 25
pO 4247+ 0.0
p1 343+ 0.0

[ C =29.15 [ps/ch]

50

il
100

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

X~ 1z 518e+04 [ 25
-, po 4258+ 0.0
L p1 -36.2+ 0.0

3000

TP delay [ns]

TVC(cbch) (0,9,6

©1nuig.434e+04 | 25
4255+ 0.0
-35.61+ 0.00

TP delay [ns]

TVC(eb,oh)=(0, 9, 10

© 1 nuiLyule+U6 / 25
po 4292+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(cbch) (0,9,14

9, 14)
11 osBe+Us / 25
- pD 4255+ 0.0
| pl -33.95+ 0.00
[ C=29.45[ps/ich] ™, ]
[ . L=
50 100
TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3

A~ 1 U, 335e+ud [ 25
- po 4257+ 0.0
pL -35.41+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

1 nuga1e+us / 25
po 4270+ 0.0
p1 -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 9

AL saue+u6/25
pO 4288+ 0.0
-36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 9 15

T nup, 112e+U5 / 25
po 4273+ 0.0
-34.74+ 0.00

[ C=28.78 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

~ i Bse+04 [ 25
e pO 4264+ 0.0
-34.09+ 0.00

[ C =29.33 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (o, 10 4

T rnuzzg/e+ud | 25
- pO 4285+ 0.0
p1 -36.51+ 0.00

50 5
TP delay [ns]

TVC(eb,oh)=(0, 10,8

T g.5ze+04 /25
= pO 4271+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(Cbch) (o, 10 12

T g p47e+05 / 25
3 po 4312+ 0.0
pl -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0, 10 1)

- udieud 25
e pO 4261+ 0.0
pL -34.26+ 0.00

[ C=29.19 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 10 5

“nub3le+ud [ 25
- pO 4294+ 0.0
pL -37.23+ 0.00

TP delay [ns]

TVC(eb.oh)=(0, 10,9

- 1nuz.4r3e+U5 / 25
4288+ 0.0
-36.4 + 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (0, 10 13

-1 U bale+us / 25
pO 4306+ 0.0
p1 -35.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (0,10,2)

0 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (o, 10 6

T nue.451e+04 / 25
- pO 4293+ 0.0
L pl -36.64 + 0.00

A~ 1 nuizu40e+04 /25
__ po 4270+ 0.0
[ p1 -34.6 + 0.0

TP delay [ns]

TVC(cbch) (0, 10 10

-1 uiL5 4e+U6 | 25
- pO 4299+ 0.0
L pl -36.33+ 0.00

TP delay [ns]

TVC(CbCh) (o, 10 14

© g zsse+Us / 25
= pD 4315+ 0.0
L pl -36.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

A1z zave+u4 | 25
e po 4285+ 0.0
pl -34.77 + 0.00

[ C =28.76 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 10 7

-1 nu gzze+U5 / 25
pO 4312+ 0.0
p1 -37.03+ 0.00

TP delay [ns]

TVC(Cbch) (0, 10 11

- 11 344e+06 / 25
- 4294 £ 0.0
-34.88 + 0.00

I C =28.67 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(cbch) (0, 10 15

71 nu yye+U5 [ 25
- pO 4307+ 0.0
p1 -36.94 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

2000 E AN Uu)tse+05 125
= pO 4241+ 0.0
pl -34.58 + 0.00
3000 - T
2000 7
oo C = 28.92 [ps/ch] ]
-
-
1 1
0 50 100

4000 =,

3000

2000

1000

TVC(CbCh) (0,11,0)

A7 nuzuzse+ud /25
feo-. po 4214+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(cbch) (0,11,4

- 1 i BYbe+ud / 25
e pO 4220 0.0
pl -33.99+ 0.00

[ C =29.42 [ps/ch]

50 10‘0
TP delay

TVC(cbch) (0, 11 8

[ns]

TP delay [ns]

TVC(cbch) (011,12

T rnup.z/ (e+U5 /25
pO 4261+ 0.0
pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

4000 E,

3000

2000

1000

TVC(Cbch) (0,11,1)

AT 1 nuz1yse+ud [ 25
— po 4218+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(cbch) (0,11,5

~nui rgze+u4 [ 25
e, pO 4247+ 0.0
p1 -34.78+ 0.00

TP delay

TVC(eh.eh)=(0, 11, 9

pO
pl

[ns]

-1 nug yaze+us / 25
4255+ 0.0
-34.47+ 0.00

[ C =29.01 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (0,11,13)

- Hu|444:)e+\)5 125
pO 4256 + 0.0
p1 -35.32+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000 2,

3000

2000

1000

0

4000 =
3000
2000

1000

TVC(CbCh) (o, 11 2)

T rnuz.zspe+ud | 25
— pO 4232+ 0.0
L pl -35.03+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,11,6

T 24 /e+04 [ 25
- pO 4269+ 0.0
[ pl -35.86 + 0.00

TP delay

TVC(cbch) (0,11, 10

[ns]

X7 1 nuizuyse+u6 / 25
po 4236+ 0.0
pl -33.97 + 0.00

- C = 29.44 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (0,11, 14

K71 nuig roze+05/ 25
po 4269+ 0.0
pl -35.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

AT 1, 128e+U4 [ 25
poes, po 4239+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(cbch) (0,11,7

-1 nui by /e+us5 / 25
e, pO 4248+ 0.0
p1 -34.07+ 0.00

[ C=29.35[ps/ch]

50 1(;0
TP delay

TVC(e.b.eh=(0, 11, 11

pO

[ns]

T nuiLg12e+U6 / 25
4256+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(cbch) (0,11,15)

T nun.413e+U5/ 25
4260+ 0.0
-34.64+ 0.00

[ C =28.87 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (o, 12 0)

L pooe+u4 / 25
= pO 4266+ 0.0
p1 -35.33+ 0.00

TP delay [ns]

TVC(Cbch) (o, 12 4

- rnuzslze+ud [ 25
== po 4278+ 0.0
pl -37.71+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 12,8

T rnuiLus1e+Us / 25
= pO 4261+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(Cbch) (o, 12 12

11, 5ope+U5 / 25
pO 4270+ 0.0
-35.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0, 12 1)

- 14zeUd ] 25
== pO 4278+ 0.0
pL -37.61% 0.00

TP delay [ns]

TVC(c,b Ch) (0, 12 5

-1 nubole+ud / 25
e pO 4269+ 0.0
pL -37.15+ 0.00

TP delay [ns]

TVC(eb.oh)=(0, 12,9

-1 nuw, /90e+U5 / 25
. pO 4274+ 0.0
p1 -36.43 £ 0.00

TP delay [ns]

TVC(c,b ch) (0, 12 13

T inun.go/e+U5 [ 25
frvase pO 4272+ 0.0
p1 -35.95+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 [,
3000
2000

1000

TVC(CbCh) (0,12,2)

TP delay [ns]

TVC(Cbch) (o, 12 6

=1 Uy 5uYe+u4 / 25
e pO 4270+ 0.0
[ pl -36.82+ 0.00

X~ 1 iz usse+ud [ 25
-, po 4273+ 0.0
[ p1 -36.37+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 12 10

T L 3z1e+U6 / 25
po 4285+ 0.0
p1 -36.15+ 0.00

TP delay [ns]

TVC(CbCh) (o, 12 14

1 nup.442e+05 / 25
pD 4278+ 0.0
pl -35.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

A~ 1 nuizb3ze+ud | 25
- po 4298+ 0.0
pL -36.86+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 12 7

-1 nu g31e+us / 25
po 4295+ 0.0
p1 -37.06 + 0.00

TP delay [ns]

TVC(Cbch) (0, 12 11

T nuiz 135e+U6 / 25
po 4292+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 15

71 nursgyae+U5 [ 25
po 4277+ 0.0
-36.02+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000
3000 [ ]
2000~ 7]
1000~ C ]
0, = 00 -
TP delay [ns]
TVC(c,b, ch) (0,13,8)
“nun, zz1e+U5 / 25
4000 o pD 43111 0.0
-34.29+ 0.00
3000 - 71
2000~ 7]
o0 C =29.17 [ps/ch] ™. ]
1 1 -
b 50 00

4000

3000

2000

1000

TVC(CbCh) (o, 13 0)

T zose+ud /25
= pO 4274+ 0.0
p1 359+ 0.0

TP delay [ns]

TVC(Cbch) (o, 13 4

T g.9ze+04 / 25
=5 po 4293+ 0.0
pl -36.91+ 0.00

TP delay [ns]

TVC(Cbch) (o, 13 12

T~ 1nuiL2uze+U6 / 25
= po 4296+ 0.0
pl -34.25+ 0.00

[ C=29.19 [ps/ch]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,13,1)

A- 1 205 (e+U4 | 25
e po 4274+ 0.0
pL -36.85+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 13 5

=1 nuiLu31e+u5 / 25
- pO 4295 0.0
pL -36.92:+ 0.00

TP delay [ns]

TVC(eb.oh)=(0, 13,9

T nuiL B30e+U6 / 25
- pO 4328+ 0.0
p1 -34.21+ 0.00

[ C=29.23 [ps/ch] . ]

1
50 00

TP delay [ns]

TVC(c,b ch) (0, 13 13

T 1 nuiL 19Ye+U6 / 25
- pO 4298+ 0.0
p1 -35.57 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,13,2)

- P

X~ 1 zo1e+u4 [ 25
4276+ 0.0
p1 -35.45+ 0.00

TP delay

TVC(Cbch) (o, 13 6

pD
pl

[ns]

=1 nun,uz1e+U5 / 25
4313+ 0.0
-37.06 + 0.00

TP delay

TVC(eb,ch)=(0, 13, 10

[ns]

T nuig,330e+U6 / 25
4341+ 0.0
-34.39+ 0.00

4000 DO
[ P
3000 L ]
2000:— _:
toor- C = 29.08 [ps/ch] -
[ 1 1 -
By 50 100
TP delay [ns]

4000

3000

2000

1000

TVC(CbCh) (o, 13 14

pD
pl

T rnuiLg31e+U6 / 25
4295+ 0.0
-34.85+ 0.00

- C = 28.70 [ps/ch]

PR R R S R |
50 100

TP delay

[ns]

TVC(Cbch) (0,13,3)

AT 1nuzbrie+us/ 25
4294+ 0.0
p1 -37.08+ 0.00

4000 [

po

3000

2000

1000

TP delay

TVC(c,b Ch) (0, 13 7

4000 [

pO
pl

[ns]

=1 U yoze+us / 25
4301+ 0.0
-36.35+ 0.00

3000 -

2000

wor C = 27,51 [ps/ch

TP delay

TVC(Cbch) (0, 13 11

4000 pO

pl

[ns]

71 nuig 195e+U6 / 25
4342+ 0.0
-35.38 + 0.00

3000 -

2000 =

lo00F C = 28.26 [ps/ch]

1
50 00

TP delay

TVC(cbch) (0, 13 15

4000 [Gue.

[ns]

T nui osze+U6 / 25
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4299+ 0.0
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p1 -34.69 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 4
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== po 4230+ 0.0
pl -35.16+ 0.00
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- 1. 545e+U4 | 25
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- pO 4243+ 0.0
p1 -35.46 + 0.00
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T nugpl/e+us/ 25
pO 4252+ 0.0
p1 -34.14 + 0.00

[ C =29.29 [ps/ch]
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- pO 4241 0.0
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po 4272+ 0.0
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TP delay [ns]

TVC(c,b Ch) (2, O 13

<1 nuiLa9ye+U5 / 25
= pO 4276+ 0.0
-35.53+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,0,2)

X~ 1z loze+u4 [ 25
-, po 4274+ 0.0
[ p1 -36.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (20,6

1000
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TP delay [ns]

TVC(c,b ch) (2, O 15

T inuiL gy /e+u5/ 25
P, 4258+ 0.0
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1
50 00

TP delay [ns]

TVC(c,b ch) (3, O 15

-1 740e+U5 / 25
4267+ 0.0
-34.51+ 0.00

[ C =28.98 [ps/ch] ]

P B TR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0

A~ 1 nuig 3rve+ud [ 25
= po 4240+ 0.0
p1 -37.05+ 0.00

TP delay [ns]

TVC(cbch) (31,4

- 1IuiZ.00Ye+U4 [ 25
== po 4259+ 0.0
pl -35.96 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 18

< bsve+ud | 25
e, pD 4246+ 0.0
p1 -35.28+ 0.00

TP delay [ns]

TVC(Cbch) (3, l 12

~ g, rose+Us / 25
= po 4262+ 0.0
pl -34.49+ 0.00

[ C =28.99 [ps/ch]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1)

A~ 1 iz 4ave+Uad | 25
po 4248+ 0.0
pL -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

T nun zyre+ud | 25
pO 4246+ 0.0
p1 -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

T nugg/3e+U5 / 25
pO 4248+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, l 13

T inuz.z1se+us [ 25
pO 4276+ 0.0
p1 -36.55+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (3,1,2)

X~ 1wz 381e+04 [ 25
- po 4238+ 0.0
L pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (31,6

- g byze+ud [ 25
e pO 4266+ 0.0
[ pl -36.11+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 1, 10

1 nuiL Zbbe+U6 / 25
- po 4240+ 0.0
L pl -34.7+ 0.0

3000

TP delay [ns]

TVC(cbch) (31,14

T 1nuiz.4z3e+05 / 25
4261+ 0.0
-35.51+ 0.00

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

A1z 0ave+ud | 25
- po 4260+ 0.0
p1 -36.05 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

= Ui Zape+us / 25
= po 4275+ 0.0
pl -36.49 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (3, l

- RIS za/e+u6/25
= po 4259+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 1 15

1 nuis yzee+us / 25
e pO 4269+ 0.0
p1 -35.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0

A~ 1 nuig 1s1e+04 / 25
= po 4227+ 0.0
p1 -35.58+ 0.00

TP delay [ns]

TVC(cbch) (3,24

- 1nuiz.493e+04 [ 25
== po 4235+ 0.0
pl -35.48 + 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(3, 2,8

- i bare+ud [ 25
= po 4278+ 0.0
p1 -35.58:+ 0.00

TP delay [ns]

TVC(cbch) (3,212

T gy rse+us / 25
pO 4278+ 0.0
-35.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,2,1)

AT 1 nuz,usbe+u4 / 25
po 4249+ 0.0
p1 -36.65 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

-1 nu ope+u4 [ 25
pO 4262+ 0.0
pL -36.85+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 2,9

T nuisp/4e+U5 / 25
po 4288+ 0.0
p1 -36.25+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 2 13

Tinai/1/e+U5/ 25
pO 4280+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,2,2)

K™ 1 nuigazze+04 | 25
- po 4256+ 0.0
L pl -37.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

- 1uig,300e+u4 / 25
- pO 4260+ 0.0
[ pl -36.31¢ 0.00

3000

TP delay [ns]

TVC(CbCh) (3, 2 10

1000

0

1 nuiLbB4e+U6 / 25
- po 4322+ 0.0
[ p1 -37.9+ 0.0

3000

TP delay [ns]

TVC(Cbch) (3, 2 14

T 1Lgoe+u5 /25
pD 4273+ 0.0
pl -35.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3

A" 1 1uiz.4a3e+U4 | 25
e po 4256+ 0.0
p1 -37.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

= rnui O7ze+U5 / 25
= po 4262+ 0.0
p1 -35.66 + 0.00

TP delay [ns]

TVC(eheh=(3, 2,

T bbde+l}6/25
k. pO 4313+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 2 15

-1 nuiz.oyze+U5 / 25
pO 4286+ 0.0
p1 -35.15+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0)

X~ 1w syoe+U4 [ 25
4246+ 0.0
p1 -35.66 + 0.00

TP delay

TVC(cbch) (3,34

[ns]

T g8 /e+ud [ 25
4265+ 0.0
-34.17 + 0.00

- pO
pl
[C=29.26 [ps/ch] %, ]
o+ o
TP delay [ns]
TVC(cbch) (3 3,8) —
Trnup z4/e+U4 | 25
= pD 4267:‘
pl -35.16 + 0.00

TP delay

TVC(cbch) (3,312

pO

[ns]

T g sule+us / 25
4284+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,3,1)

e, po

X1 L s1ie+ud | 25
4256 + 0.0
-36.48+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 nu Zbae+u4 [ 25
4280+ 0.0
-35.29 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,9

~ 1 nup.3o8e+U5 / 25
4268+ 0.0
-34.56 + 0.00

[ C =28.94 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (3, 3 13

Tinun3/e+us/ 25
4287+ 0.0
-35.85+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,3,2)

= PO

X~ 1z zy/e+u4 [ 25
4272+ 0.0
p1 -35.92+ 0.00

TP delay

TVC(cbch) (3,36

- b

[ns]

- 11Uy 9loe+ud / 25
4288+ 0.0
-35.5+ 0.0

1000

TP delay [ns]

TVC(eb,oh)=(3, 3, 10

pO

T L5l e+U6 / 25
4293+ 0.0
pl -35.36+ 0.00

TP delay

TVC(cbch) (3,314

[ns]

T 1n3e+U5 / 25
4271+ 0.0
pl -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (3,3,

po
pL

3

AT 1nuz4/1e+04 /25
4268+ 0.0
-34.5+ 0.0

[ C =28.99 [ps/ch]

L
50

1
100

TP delay [ns]

TVC(c,b ch) (3 3,7

pO
pl

S nun 1 5e+U5 /25
4300+ 0.0
-34.48 + 0.00

[ C =29.01[ps/ch] ™.

50 160
TP delay [ns]

TVC(c,b ch) (3, 3

T bb/e+U6/25
4293+ 0.0
-36.38 + 0.00

1
100

50
TP delay [ns]
TVC(c,b ch) (3, 3 15

- i yyse+ud [ 25
4298+ 0.0
-36.44 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000
3000 ]
2000 - 7
1000 C 7]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (34.8)
“rnuiLyyre+us/ 25
4000 [, 4262+ 0.0
-34.23+ 0.00
3000 - ]
2000 - 71
oo C =29.21 [ps/ch] ™. 1]
1 1 -
¢ 50 100
TP delay [ns]
TVC(c,b ch) (3, 4 12
4000

3000

2000

1000

TVC(cbch) (3,4,0

A7 1 nui yuse+ud / 25

e, po 4252+ 0.0
pL -36.66 + 0.00

TP delay [ns]

TVC(cbch) (34,4

- rnu 13e+ud [ 25
=5 po 4286+ 0.0
pl -36.03+ 0.00

- 1. yove+us / 25
po 4286+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (3,4,1

x- 1wz 23ae+U4 | 25

- po 4249+ 0.0
pL -36.2:+ 0.0

TP delay [ns]

TVC(c,b ch) (3 4,5

- pO

1 U b34e+04 | 25

pl -36.68 + 0.00

4291+ 0.0

TP delay [ns]

TVC(c,b ch) (3 4,9

1 1uiL43/e+U6 / 25

e, pO 4273+ 0.0

34.65 + 0.00

[ C =28.86 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 4 13

1 nug 390e+Us / 25

po 4275+ 0.0

37.13+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3.4,2)

Tnunz4pe+u4 [ 25
= po 4244+ 0.0
L pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (34,6

Ty (e+u4 [ 25
- pO 4299+ 0.0
- pl -37.33+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 4, 10

T nuz36/e+U6 / 25
- po 4278+ 0.0
F pl -35.48 + 0.00

TP delay [ns]

TVC(cbch) (34,14

-1 nun.u4Be+U5 / 25
E pD 4273+ 0.0
L p1 -36.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

e, po 4265 0.0
pL -36.8:+ 0.0

A~ 1 iz Ysoe+ud | 25

TP delay [ns]

TVC(c,b ch) (3 4,7

pO 4301 0.0
p1 -35.85+ 0.00

Snanz.z2ze+05 1 25

TP delay [ns]

TVC(c,b ch) (3, 4

: ),_\

a2 207e+U6 / 25
4284+ 0.0
34.66 + 0.00

[ C =28.85 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, 4 15

E pO 4274+ 0.0

1 p.3re+U5 /25

35.93 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000
3000~ ]
2000 - ]
1000 C 7]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (3 5,8)
© iy pbye+ud / 25
4000 fae, pD 42951+ 0.0
-34.91+ 0.00
3000 - ]
2000 = ]
wor C =28.64 [ps/chl™, 7
1 1 -
b 50 100

4000

3000

2000

1000

TVC(cbch) (3,5,0

A~ 1 nui oboe+u4 / 25
e po 4259+ 0.0
p1 -35.22+ 0.00

TP delay [ns]

TVC(cbch) (3,54

- i 2g5e+04 [ 25
== po 4272+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (3,5,12

-1y zlae+Us 25
- po 4343+ 0.0
p1 -36.18+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

AT 1 nuiLyuze+u4 25
- po 4286+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

~ 1 nu.4n3e+04 [ 25
= 4260+ 0.0
-34.66 + 0.00

[ C =28.85 [ps/ch] 7]

50 150
TP delay [ns]

TVC(c,b ch) (3 59

T nuy.a32e+U5 / 25
pO 4316+ 0.0
p1 -35.17 + 0.00

[ C =28.44 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 5 13

1 nuis o8ve+U5 / 25
- pO 4334+ 0.0
-36.61+ 0.00

PR R SR |
50 100

TP delay [ns]

4000

2000

4000

3000

2000

1000

AR bl)be+U6/25

4000 fm, po 4326+ 0.0

[ pl -34.7 £ 0.0
a000|- 7]
2000 .
looor C = 28.82 [ps/ch] . 7

- -

[ -

1 1
¢ 50 100

4000

3000
2000

1000

TVC(cbch) (3,5,2)

1000

TP delay [ns]

TVC(cbch) (3,56

X~ 1 iz 1ube+u4 [ 25
- po 4290+ 0.0
[ p1 -35.86+ 0.00

3000

T nug,3r3e+04 / 25
fo, pO 4262+ 0.0
L pl -34.34 + 0.00

- C =29.12 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(3, 5, 10

TP delay [ns]

TVC(Cbch) (3, 5 14

- 1. 2416+U5 ] 25
- pD 4335+ 0.0
[ pl -36.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

A~ 1 nuiLgoye+ud [ 25
- po 4297+ 0.0
pL -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

=1 nu 330e+U5 / 25
= po 4270+ 0.0
pl -34.25+ 0.00

[ C =29.20 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (3, 5

T tube+u6/25
po 4332+ 0.0
-34.78 + 0.00

[ C =28.75 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, 5 15

Tinuzze+U5/ 25
- pO 4346+ 0.0
p1 -36.74 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,0)

X~ 1L byle+U4 /25
po 4230+ 0.0
p1 -34.13+ 0.00

[C=29.30 [ps/ch] ™, 1
_ e
TP delay [ns]
TVC(cbch)(364) -
11 yyse+us / 25
e, pO 4299@
pl -36.68 + 0.00
- C =
o+ o
TP delay [ns]
TVC(c,b ch) (3 6,8

©1nuz.z43e+05 | 25
po 4283+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

Ty 510e+U5 / 25
po 4268+ 0.0
pl -34.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1)

[ C =28.91 [ps/ch]

A~ 1 nuiLyube+u4 / 25
po 4243+ 0.0
p1 -34.6 + 0.0

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,5

= 1 nui Tove+ud / 25
po 4316+ 0.0
pl -37.47 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T inai742e+06 / 25
pO 4299+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

<1 nu gyve+U5 / 25
pO 4282+ 0.0
p1 -35.75+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

X~ 1 L Bsse+u4 [ 25
- po 4261 0.0
L pl -35.24 £ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

- Uy, 333e+04 / 25
4315+ 0.0
-36.81+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

1 nuz, Zove+U6 / 25
po 4289+ 0.0
p1 -35.01+ 0.00

TP delay [ns]

TVC(Cbch) (3, 6 14

T nuy411e+05/ 25
pD 4294+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

A~ 1 g Boye+ud [ 25
- po 4247+ 0.0
pL -34.56+ 0.00

C =28.94 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,7

=1 nu gooe+us | 25
= po 4317+ 0.0
p1 -37.76 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

T, 1/5e+u6/25
po 4306+ 0.0
p1 -36.45 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 6 15

71 nursbyye+U5 / 25
pO 4285+ 0.0
p1 -35.42 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

X~ 1L byle+U4 /25
= po 4253 0.0
p1 -35.15+ 0.00

TP delay [ns]

TVC(cbch) (37,4

- rnuz,033e+04 [ 25
== po 4262+ 0.0
pl -35.45+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 7,8

i boze+U5 / 25
= po 4268+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(Cbch) (3, 7 12

- 1 nug,uope+Us / 25
pO 4271+ 0.0
pl -34.53+ 0.00

[ C =28.96 [ps/ch]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (3,7,1

A 1L (e+Ud | 25
e, po 4257+ 0.0
pL -35.01% 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

-1 nuz.49ye+04 [ 25
e, pO 4250+ 0.0
p1 -34.74+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

TonaiLz1/e+u6 / 25
po 4286+ 0.0
p1 -36.34 £ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 7 13

T nu.zzae+U5 [ 25
pO 4257+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,2)

X~ 1z z13e+04 [ 25
-, po 4274+ 0.0
[ p1 -36.05+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

T 1zze+04 [ 25
- pO 4268+ 0.0
[ pl -35.81+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 7, 10

T nuizus1e+u6 / 25
- 4297+ 0.0
L -36.5+ 0.0

TP delay [ns]

TVC(Cbch) (3, 7 14

~ g g13e+Us / 25
I pD 4257+ 0.0
L p1 -34.27 + 0.00

- C = 29.18 [ps/ch]

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

e po 4272+ 0.0
pL -35.36  0.00

A1z, raye+U4 | 25

TP delay [ns]

TVC(c,b ch) (3 7,7

= po 4277+ 0.0
p1 -35.52+ 0.00

- 11U Uobe+us / 25

TP delay [ns]

TVC(c,b ch) (3, 7

= pO 4295+ 0.0
pl -36.68 + 0.00

s bU‘Je+U6/25

TP delay [ns]

TVC(c,b ch) (3, 7 15

E pO 4264+ 0.0
pL -35.27+ 0.00

1 1u ¥obe+us / 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000
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1 nuiz bzye+U5 [ 25
= pO 4303+ 0.0
p1 -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,2)

TP delay [ns]

TVC(cbch) (6,56

A 1wz, 11 re+ud | 25
- po 4285+ 0.0
[ p1 -36.35 + 0.00

3000

=1 U bEye+ud [ 25
fo, pO 4265+ 0.0
[ p1 -34.01+ 0.00

- C = 29.40 [ps/ch] ™.

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 5, 10

Ty 111e+U5 /25
- po 4290+ 0.0
- pl -35.39+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 14

T 1zse+u5/25
F-. pD 4276+ 0.0
L pl -34.96 + 0.00

F C = 28.60 [ps/ch]

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,53)

i Zuzerud | 25
- pO 4268+ 0.0
pL -34.73 £ 0.00

[ C =28.80 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 57

= 1 nuiy 5yve+ud | 25
= po 4267+ 0.0
pl -34.92+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

T 1uze+u6/25
- pO 4294+ 0.0
p1 -35.24+ 0,00

TP delay [ns]

TVC(c,b ch) (6, 5 15

T nuiLsu/e+u5 / 25
e po 4290+ 0.0
p1 -35.87 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

AT 1nuiazze+04 /25
4256+ 0.0
-35.26+ 0.00

TP delay [ns]

TVC(cbch) (6.6,4

pO
pL

T gy /e+ud [ 25
4239+ 0.0
-34.87 + 0.00

TP delay [ns]

TVC(cbch) (6 6,8

pD

p1

T z5ye+u4 /25
4275+ 0.0
-35.47 + 0.00

TP delay [ns]

TVC(cbch) (6,6,12

pO
p1

T L3 e+us / 25
4288+ 0.0
-35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1)

= po

K™ rnuiLanie+ud [ 25
4266 + 0.0
-35.67 + 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (6 6,5

-1 nu.493e+u4 [ 25
4267+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,9

-1 nug byae+U5 / 25
4298+ 0.0
-34.63 + 0.00

[ C =28.88 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (6,6,13

T nuiLb3se+us [ 25
4281+ 0.0
-35.41+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,6,2)

- P

pl

K™ 1 nuioyoe+u4 / 25
4261+ 0.0
-35.31+ 0.00

TP delay [ns]

TVC(cbch) (66,6

= P°

p1

- rnuz.415e+04 [ 25
4253+ 0.0
-35.32 + 0.00

TP delay [ns]

TVC(cbch) (6, 6 10

1000

- o

© 1 nu g32e+U5 / 25
4309+ 0.0
-35.67 + 0.00

pl

TP delay [ns]

TVC(cbch) (6,614

T 1 3oe+u5 /25
. pD 4278+ 0.0
- pl -35.27 + 0.

-35.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (6,6,
%
pl

3

nuiLysoe+u4 / 25
4273+ 0.0
-35.26 + 0.00

TVC(c,b ch) (6 6,7

-

Fe=. pO
pl

1
100

TP delay [ns]

nug 113e+04 / 25
4265+ 0.0
-35.75+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6, 6

T, 594e+u5/25
4302+ 0.0
-34.86 + 0.00

[ C =28.69 [ps/ch] §

1
100

50
TP delay [ns]
TVC(c,b ch) (6, 6 15)
-1 nuz b44e+U5 / 25
P, pO 4291+ 0.0
-35.92+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0

A Huumeﬂm/zs
= PO 4244+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (67,4

T rnube/e+ud [ 25
= pO 4256+ 0.0
p1 -34.57:+ 0.00

[ C =28.92 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 7,8

T 1nug 1eoe+u4 / 25
4266+ 0.0
-35.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,7,12

T rnuizysre+us /25
= po 4307+ 0.0
pl -36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

AT 1 nuzus/e+u4 [ 25
Fee, po 4269+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

S nugrze+u4 [ 25
- pO 4268+ 0.0
pL -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

~ 1 nuw 3bae+us / 25
= po 4279+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(C, bch) (67,13

T nuz.a1ye+U5 /25
= pO 4303+ 0.0
pl -36.95+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,7,2)

AT 1nug ssse+u4 /25
_- po 4274+ 0.0
- pl -36.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (67,6

- rnug.us3e+ud / 25
fo, pO 4275+ 0.0
[ pl -34.86 + 0.00

- C = 28.69 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 7 10

1000

1 nuiLbEbe+U6 / 25
= po 4297+ 0.0
- pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (67,14

T z51e+U5/25
- pD 4306+ 0.0
L pl -36.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3

AT rnuz4sze+u4 [ 25
- po 4273+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

- 1nug 3r4e+04 / 25
- pO 4273+ 0.0
p1 -34.34+ 0.00

[ C=29.12 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 7

Ty b/E+U6/25
= po 4306+ 0.0
pl -37.08 + 0.00

TP delay [ns]

TVC(C, bch) (67,15

71 nuis byve+U5 / 25
= pO 4315+ 0.0
p1 -36.46 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

10 C = 28.66 [ps/ch]™, 7
0 5:) 10'0 -

4000

3000

2000

1000

TVC(cbch) (6,8,0

A~ 1 nui B1oe+u4 [ 25
= po 4240+ 0.0
p1 -34.76 + 0.00

TP delay [ns]

TVC(cbch) (68,4

- Ui Z14e+04 [ 25
P po 4331+ 0.0
pl -38.73+ 0.00

TP delay [ns]

TVC(cbch) (6 8,8

-1 Sype+ua [ 25
e, po 4269+ 0.0
p1 349+ 0.0

TP delay [ns]

TVC(cbch) (6,812

1z p3pe+Us / 25
= po 4273+ 0.0
pl -35.58 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

A7 1 nuiLyooe+u4 / 25
= po 4237+ 0.0
p1 -34.62+ 0.00

[ C =28.89 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

=1 nu Os1e+ud / 25
e po 4312+ 0.0
pl -37.54 % 0.00

TP delay [ns]

TVC(c,b ch) (6 8,9

-1 nui 3bze+u5 / 25
= pO 4275+ 0.0
-34.39 + 0.00

[ C =29.08 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 8 13

Srna 1887125
- po 4290+ 1.6
pl -35.83+ 0.03

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000:— ]

zoou:— _

1000:— C =28.61 [ps/ch] - _
/ = 00 -

4000

3000

2000

1000

TVC(cbch) (6.8,2)

TP delay [ns]

TVC(cbch) (68,6

T zuse+ud /25
F-. pO 4262+ 0.0
[ p1 -34.89+ 0.00

3000

- g bzbe+u4 [ 25
- pO 4324+ 0.0
X p1 -38.03+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 8, 10

T nuiLUs3e+U6 / 25
po 4300+ 0.0
p1 -34.95 % 0.00

TP delay [ns]

TVC(cbch) (6,814

T4 /oe+U5 / 25
. pD 4274+ 0.0
| -34.49 + 0.00

- C = 28.99 [ps/ch]

PR R R S R |
50 100

TP delay [ns]
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1000
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3

A~ 1 nuiz, 183e+u4 [ 25
- po 4266+ 0.0
pL -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (6 8,7

-1 nuy 154e+04 / 25
- pO 4341+ 0.0
p1 -37.74+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 8

T ume+u6/25
pO 4306+ 0.0
p1 -34.72+ 0.00

[ C =28.81[ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 8 15

T nuiz.z03e+U5 / 25
4283+ 0.0
-34.93+ 0.00

[ C =28.63 [ps/ch] ]

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000~ 71
2000~ 7]
100r C =28.52 [ps/ch]™, 1]
o T
TP delay [ns]
TVC(cbch) (6 9,8) —
T nuyg 394e+U4 5
4000 [ pD 4277:‘
p1 -34.94 + 0.00
3000 - ]
2000 |- ]
10r C =28.62 [ps/ch]™, 7]
) - o
TP delay [ns]
TVC(cbch) (6.9,12)
Tinug.zore+Us / 25
4000 po 4237:‘
p1 -33.9+ 0.0
3000 [ 7]
2000 - 71
000 C =29.49 [pS/Ch] - 7]
- Em—— =

TVC(cbch) (6,9,0)

X~ 1 nuig.434e+04 [ 25

po 4273+ 0.0
pL -36.48 + 0.00

TP delay [ns]

TVC(cbch) (69,4

- 35ze+04 [ 25

pO 4294+ 0.0
p1 -35.06+ 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,91

AT 1 nuizosbe+u4 [ 25
- po 4277+ 0.0
p1 -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

-1 nu b3ze+ud [ 25
- pO 4308+ 0.0
-35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (6 9,9

-1 4sze+U5 [ 25
e, po 4287+ 0.0
pL -35.72.+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 9 13

T inunz.ave+u5 /25
pO 4286+ 0.0
p1 -35.07 + 0.00

[ C =28.51 [ps/ch]

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,9,2)

X~ 1z 523e+04 [ 25
- po 4298+ 0.0
[ p1 -37.53+ 0.00

3000

-
1 1=

TP delay [ns]

TVC(cbch) (69,6

T, 5 /e+u4 | 25
- pO 4316+ 0.0
[ pl -35.61+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 9, 10

T nuiLu4se+U6 / 25
- po 4307+ 0.0
N pl -35.85+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 9 14

Tz, 11e+U5/ 25
pD 4302+ 0.0
pl -36.42+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3

A1z baye+ud | 25
- po 4302+ 0.0
pl 37+ 0.0

TP delay [ns]

TVC(c,b ch) (6 9,7

1 nu g31e+04 / 25
fe=s, po 4332+ 0.0
-36.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6, 9

T bz4e+u6/25
- pO 4316+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 9 15

T nuis.uzse+us / 25
= pO 4311+ 0.0
p1 -36.37 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

- 1 i paae+ud [ 25
e, pO 4263+ 0.0
p1 -35.57+ 0.00

TP delay [ns]

TVC(Cbch) (6, 10 4

T ss/e+u4 [ 25
- pO 4274 0.0
p1 -36.66+ 0.00

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 10,8

- 1 nuizu3ve+ud | 25
e, po 4279+ 0.0
p1 -36.85+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10 12

~ 1z 53pe+U5 / 25
= po 4280+ 0.0
pl -35.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

A1 nuiL3ae+ud | 25
e, po 4266+ 0.0
pL -36.03+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 10 5

- 1nuz.4zoe+04 [ 25
- pO 4277+ 0.0
pL -36.15+ 0.00

TP delay [ns]

TVC(eb.oh)=(6, 10,9

-1 nugpuse+U5 / 25
e pO 4274+ 0.0
p1 -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10 13

T nuiLyule+us/ 25
pO 4282+ 0.0
p1 -35.25+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (6, 10 2)

= P°

Srna Zzerud |25
4278+ 0.0
p1 -36.22:+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10 6

1000

a2, 849e+04 | 25
- pO 4287+ 0.0
L pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (6, 10 10

© 1 nuiLZ1pbe+U6 / 25
- po 4296+ 0.0
- pl -36.67 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 10 14

T r1e+U5 /25
- pD 4285+ 0.0
L pl -35.26 + 0.00

TP delay [ns]

TVC(Cbch) (6,10,3)

4000 [

3000

2000

1000

A1 nuiz3r9e+ud [ 25
po 4273+ 0.0
pL -36.95+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 10 7

4000 [

3000 -

2000

1000 C =27 57 [pS/Ch 7]

=1 nu zoze+ud | 25
po 4289+ 0.0
p1 -36.27 + 0.00

TP delay [ns]

TVC(Cbch) (6, 10 11

4000 [us.

3000

2000

1000

1 nuiL zgae+U6 / 25
pO 4309+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(cbch) (6, 10 15

4000 [Gue.

3000

2000

1000

-/ 2.54e+U5 ] 25
pO 4291 0.0
pL -35.47+ 0.00

TP delay [ns]



4000

3000
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

A~ 1 nuig buse+u4 [ 25
- po 4281% 0.0
p1 -35.15+ 0.00

TP delay [ns]

TVC(cbch) (6, 11 4

- i Zbe+ud [ 25
== po 4239+ 0.0
pl -36.07 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6, 11 8

- Ui azae+ud | 25
- po 4287+ 0.0
p1 -35.76+ 0.00

TP delay [ns]

TVC(c,b Ch) (6,11, 12

X~ 11 bare+Us5 /25
== po 4303+ 0.0
pl -34.75+ 0.00

I C =28.77 [ps/ch]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,1)

AT 1 nubloe+u4 25
- po 4278+ 0.0
p1 -34.38 + 0.00

[ C =29.08 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 11 5

Tonan1z/e+04 /25
== po 4257+ 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 11

~ 1 nui 3o8e+u5 / 25
= pO 4271% 0.0
p1 -34.32+ 0.00

[ C =29.14 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 11 13

T inaiz14e+U5/ 25
- pO 4303+ 0.0
p1 -34.55+ 0.00

[ C =28.94 [ps/ch]

PR R SR |
50 100

TP delay [ns]
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4000

3000
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1000

4000

3000:— ]
2000:— _:
wof C = 28.46 [psich]™, 7

) 4 o

4000

3000
2000

1000

TVC(CbCh) (6, 11 2)

TP delay [ns]

TVC(chh) (6, 11 6

T rnuizps1e+u4 [ 25
- pO 4297+ 0.0
[ p1 -35.69 + 0.00

3000

- 1L y8be+u4 / 25
- pO 4264+ 0.0
[ pl -36.83+ 0.00

TP delay [ns]

TVC(e,beh)=(6, 11, 10

1 nuig,use+Us / 25
po 4296+ 0.0
p1 -35.14 + 0.00

TP delay [ns]

TVC(c,b Ch) (6,11, 14

X~ 1L 453e+U5 / 25
-, po 4321+ 0.0
[ pl -35.58 + 0.00

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,11,3)

A1z saye+ud | 25
- po 4305+ 0.0
p1 -36.63 + 0.00

TP delay [ns]

TVC(CbCh) (6, 11 7

= 1 nuy z8be+ud | 25
= po 4268+ 0.0
p1 -35.78 + 0.00

TP delay [ns]

TVC(Deh)=(6, 11, 11

<1 nuiLz40e+U6 / 25
- po 4297+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 11 15

T nai r50e+U5 / 25
4318+ 0.0
-35.25+ 0.00

I C =28.37 [ps/ch] ]

PR R SRR |
50 100

TP delay [ns]
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1000
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1000

TVC(CbCh) (6, 12 0)

© L psoe+U4 / 25
= pO 4236+ 0.0
-34.41+ 0.00

[ C =29.06 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (6, 12 4

- iU 384e+04 [ 25
=5 po 4293+ 0.0
pl -37.59+ 0.00

50 10'0
TP delay [ns]

TVC(eb.oh)=(6, 12,8

- iz (5e+U4 [ 25
e, po 4253+ 0.0
p1 -35.06+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 12 12

T zule+u5/25
= po 4278+ 0.0
-34.59 + 0.00

I C =28.91 [ps/ch]

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,12,1)

AT 1 nuiLy/oe+u4 [ 25
= po 4246+ 0.0
p1 -33.56 + 0.00

[ C=29.80[ps/ch] ™_ 7]
L L

TP delay [ns]

TVC(c,b Ch) (6, 12 5

“nuzze+u4 [ 25
P 4286+ 0.0
-36.8 + 0.0

50 150
TP delay [ns]
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